0000 II No.6

0000000000 O00bOooaono (1)

od gd

19950 60 10

1 0000

1.1 O0ooobooobbuoobobon —D0b0

000000000000 000000 00000000 +00000 z=2(t) 00

dx d*x dbz
0000000002 000000 —, ﬁw~WEFDDDDDDDDDDDDDDDDD
d e &
DDDDDD@DDD-ﬁ—mﬂangﬂagzﬂw .00000000000D)
0 1: 2/(t) = ﬂﬂ (f0D0O0D00)

T
02 2"(t)=—g (¢0O00DO0D)
0O 3: a:(t)—ax(t) («0DODODOODO)
0 4: 2"(t) = —w?a(t) (wDOODO0D)
O 5: 2”(t) + 2yx(t) + w?z(t) =0 (y,w ODOODOOO)
goobbobbbbodoogoobobobboodbbbbtbdoooouooooobo
gobbooboooodddooooooooooobbobobbbboobboodoooogo
oo oouooouog t00 e 2z 0
O z(ty) OOOO0O0O0O0O0OO0OO0O0COOOOO0OOOOO0OODODOOODOO0OOOODOOOO
Oooo0o0o00 (oo +0000000000t, 0000000000000000000
0ooo)o
goooooo 1,3000u

z(0)=xzy (xe OOODODO),

02450000
z(0) =z, 2'(0)=wvy (29,00 0000D0)

googobuogbboobobooobobooboboobboobooboboobboobo
0000 (0O000ooo)oboooogooood



1.2 O0O0OO00O0O0

000000000000000000000'000000000000000000020
goobouobobobbobooboobobobooboboboboooobobobo
gboogbobuodggobuoobboobuoobbuodgboooobooooboobboobo
000000000000 0000 (0000000 DO0D0O0OOO0D0D0OoOOOoOoOOO
000000)00d0 —0000OO000000 —0O0O000D0DOooOOoUoOooDoooOo
gooobooooooboab

oobooboooboooboooboobboobboobbooboboobbOo I
goobogoboooobooboboobboboobbooboboobboooboooobo
0000000000000000000000000000000000000000O0
goobod

2 0000 (1)

21 0JU0ooboooooobbbod

0000000000000 00000000000000000000000000
gbbogobbogdgbbooobuooobbuoogbbooobboboobb wbo
000 z=2()0000000000000O0O0O0OOO

dx

(1 = fta) (telab)

0000000000000 00bOO00DO fODO0ODOODOOODOODOO
(2) z(a)=z9 (xoODDODODODO)

000000000002, 000000000(1),(2) 000000000 z(¢)000000
00000000000000000000000000000 «(4)000000 (1),(2)0
ooooooo

000000o00ooooooooobobbo o000 0o0o0oooomoooooonoooon
la,b] O
a=tg<ti <ty <---<ty=0b

0000000 007,00 200 z;=2(;) (y=1,2,...,N)0ODODOOOODOOO
000000000000000 (1)00 {z;};-0. 00000000 O0DOD0000
oboooom

00000000000 0000000000000000000000D000000000000000

J000000000000000D0D0000000D0010000000000000O0O00000O000
o000 3b000b00ooboooboooboobooboooooooooooooobooooboooobooOooonoa
goboodob 30obooboobooboooboobbooobooobooooooboooobooooOooonoag
gooo

3simulation(0 000)000000000000000O00O0000000DOOD0O00000000O0O0
go

0000000000000 000000000000000000000000000000O0O0OaQaon
oo

‘00000000000000000000000000000000000000000O00

.....




00 [, 00000000000 0O0ODOOOOOO0 NOODODODODODODOODODOOO
h=(b—-a)/N, tj=a+ jh.

gooobon

2.2 Euler(D0OO0O)00OO0O
t+h)—ax(t)

d
Dmx'(t):d—fmmmmx( 0 h—00000000000(1)000000
00000000000000000000000000000

w:f@j,%) (7=0,L....N~1)

goooo
(3) Tip1 = x5+ hf(t;, ;).
O00000000000002 0000 z9,29,...,zxy 0000000000000 Euler(O
O000)000ooooo

00000000 N4+1000 (t;,z;) 00000000000 0O0O0O0OOfO00O0OO

O00000000ON 400 000A=(b—a)/NOODODOOOO h—0 000 «(t) O
0000000000000 00000000000000000000000

23 UO0O0OOoOooOboOoon

000 2z, 000000000000 3)0000000 {«;},m4.000000000
gbobbobooboobuooboobobbobooboobooboobod

OO0000O00 Ooob0ob0obobbodO0Fortran D0 0OO0OO0O0ODODOOOO

integer MAXN
parameter (MAXN = 1000)
real x(0:MAXN)

OO000b0 < 00ouoooon

x(0) = x0

t = a

do j=0,N-1
x(j+1) = x(j) + h * £(t,x(j))
t=t+h

end do

gboboooogdg

‘000DD0D00000000000 30000000000000000000000000



00000000000000 D00 3)00000oo0o00ooooooooooooo
O0000000000 % 00000 2, 00000000000

do j = 0,N-1
x + h *x £f(t,x)
t +h

[
non

end do

gbooboooobobooooboon

Jogdododdd: £ =t+n000000000000000D0000O0O0O00OO00O00O0OO0
gbobogboogboobobogoon

t=a+(j+1) xh

24 00

O1. 00000
Z(t) =x(t) (tel0,1]), z(0)=1

1\
000 z(t)=e'00000Euer 00000D0O0O :UN:(l—i-N) gobbobouoodad

000 N—-+cc 000 zy—e=2x(1) 0000000

O0b0e6.1 EuleeddO0OO0OO0OO10D00O0DOOO0ODODOOODOOODOODOODOODO

* reidai6-1.f —— DO O0O00O00O00O0OO Euler JODOO
program rei6l

* Jooooooon
real a,b
parameter (a=0.0,b=1.0)
* goooooon

integer N, j
real t,x,h,x0,f
external £

* oogd
x0 =1.0
* oo00oo0o0 NnooOoooooo
write(kx,*) ’ N=’
read(*x,*) N
* pgoogo
h=(b-a)/N
* oooDooooooooog
t=a
x=x0

"DO0000000000000(00 Fortran 00000 0000000000000O0OOOO)00O0O
gboboobooboooboobooooboooobobooobooboooobooooboOobooooooboon



write(*,*) t,x
* Euler OO QO OOO
do j=0,N-1
x=x+hx*f (t,x)
t=t+h
write(*,*) t,x
end do
end
stk sk ok ok ok ok sk sk ok ot ok s sk ok ok ok sk sk sk ok ok ok sk sk o ok sk sk sk sk sk ok sk s sk ok ok sk sk sk sk ok ok sk sk sk ok ok sk sk sk ok sk ok s sk s ok sk sk sk sk ok ok ok sk sk ok ok

* Oooog x=f(t,x) O0O0O0O0O0O £ 000
real function f(t,x)
real t,x
f=x
end
dddddooooooooooobobbboobobo NOOoooooooooooooo
goooodooodooodo ¢ aoo0d z; 0o (j=0,1,---,N)ODDODOOODOOOOO
000000000 NOODODODOOOOOOz(1)=2y00000000000ON=100
O0 zy =2.59374261, N =100 000 zy = 2.70481372, N = 1000 0 O O xy = 2.71692038,
N =10000 000 xny = 2.71814346, - - -.
D00 NOOODOOOOOOOOO e=2.7182818284590452--- D0 OO0 0OOODOOOOO
O0e6.1: DO 6-1000000000000O0ODOOO0OOOODO Euler00O0OOOOO
(0000000ooooooooooon)

00 6.2: “reidai6-1.f” 0000000000 DO0OODOOO (OO0 t—2(t) 000000
0)ooooooo

25 Euler UO0OOOODO

OO0000000 Rhmlee OO0 OO0 NODOODOODOODDODODODOODOODOOD
odbd N—-+ooO0ODOOOOODOODOODODOODOODODDOODODDOODO
goboboooobbboooobbboooobbbooobobobboooogd

00 6.2: 00610000000000000000 NOOOOOOOOOt=10000
0000 |z(1) —ay|=|e—2y| 00000000

00000000000 NOOOOOOO le—2zy| 00000000000 OOOOOO
gooon

* reidai6-2.f -———- U0UO0OO0O0OO0OOOOO Euler O OO
program rei62
* gooooodon
real a,b
parameter (a=0.0,b=1.0)
* goad
real x0
* gooooooo

real t,x,h,f,e
integer NO,N1,N2,N,1i
000000 e (=2.7182818284..)

*



e=exp(1.0)
* gooooo
x0=1.0
o0 NoOooboooooood
NO OO N1 OOON2 OOOOOO N O
write(*,*) ’> FIRSTN,LASTN,STEPN=’
read(*,%) NO,N1,N2

* gooog
do N=NO,N1,N2
h=(b-a)/N
* gddooouooooon
t=a
x=x0
* Euler OO OOOO
do i=0,N-1
x=x+h*f (t,x)
t=t+h
end do
write(*,*) N,abs(e-x)
end do
end
5ok ok o ok K oK ok K ok oK 3 ok K 3k ok 3 ok ok 3 ok oK 3 ok 3 3 ok K ok ok 3 ok ok 3 ok 3 3k ok 3 ok ok 3 ok K 3 ok K 3k ok K ok ok 3 ok K 3 ok 3 3k ok K oK ok 3 ok K ok 3k ok
* ooodo x=f(¢,x) OO0O0O0O0O f 000 --0O0OO0O0O0O0O0O

000000000000 “ FIRSTN,LASTN,STEPN=" 00000000000 “100 1000
50 00000 10000 10000050 00000000000 100, 150, 200, -- -, 900, 950,
10000 NOOOOOOODOOOODO0O0000000000000000000000000

waltz11), reidai6-2
FIRSTN,LASTN,STEPN=
100 1000 50
100 1.34680271e-02
150 9.00602341e-03
200 6.76608086e-03
L@oo) ...
900 1.50966644e-03
950 1.42812729e-03
1000 1.36137009e-03
waltz11Y%

‘mgraph” 00 0000000000000 OODODODODOO(ODDOOO -1x,-ly0OoooOO
00000 “1” 0 “legarithmic”(=00000)000000000000OOOOOOOOO
gbobbooogobobboooobobbob

waltz11), reidai6-2 | mgraph -1x -1y | xplot
10,10000,100



0o1| . . ..

0001 - - .-

0.0001
10

100 1000 10000

0000000000 =0N"') (N —+00)0000000D0O0ODOODOODODOOO
Euler OO0 O0O0OOD0OODOODOOO

OO0 Euler 0O0OO0ODOOOO0ODOOODOOOODOOODODOOODOODODOODDbDOODO
0ooOooD o

3 Runge-Kutta (000-000)0O

OO000000 Ewer DO0O00O0OO0O0O0ODODODODODOOOOOOODODODODOO
ooboboooboboooboboobooboobobooboboobDoo NOObDOoobo
00 (=00000000)0000000000000%000000000000000
gobobooooooobobobooooboboboon

gboogobuogbobbboobobbuoobboobooobobuoobboooooo
00000000 Runge-KuttaOOODOOOOOOOOOOOOOO 2,00 2,0, 0000
gbboboooobobodaoono

>

ki = hf(tj, ;)

ky = hf(t;j+h/2,z; +k/2)
ks = hf(t;j+h/2,z; +ko/2)
ki = hf(t;j+h,z;+ks)

1
Tjy1 = l‘]+6(l€1—|—2k’2+2k’3+k‘4)
goodooooobbbbboooooooooobbbbbbooooan

* reidai6-3.f ——- 00000000 O000O0O Runge-Kutta UOOU
program rei63

S000000000000D00D000 fO00000D00O0O00O0O0OODOOOO0OOOOOOOOOOOO0
ooo0oooo00ooooO0oO0oooOb00ooDobO000oOObO000DO0O0Ewer0O00O0O0ODOOOO
goo



*

oooooooon
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